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Question Number : 1 Question Id : 630680359417 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YD S STy & Tl 31 SRIT 3R Bf fism S8 swra syt & frd figh o1 98 Tum W I fbar i 89
Options :

1. % UeRH 35S faghd

2. RaRoTg affepa Rgh

3. @ fyfd afgn

4. © gORUT feare AT

Question Number : 1 Question Id : 630680359417 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which bitumen is extensively used in spraying application such as surface-dressing and paving in very cold climate?
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Options :
1. ¥ Penetration graded bitumen
2. <7 Viscosity graded bitumen
3. ¥ Chewing grading
4. ¥ Superpave performance grading

Question Number : 2 Question Id : 630680359418 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TCRMZE, TR SR Wie S 7, A SR TP agMI & o1t Ioa- &t &1 Al 7l Iugad €, Ty 81 39 fafy & gt of
RSEREINIE

Options :

1. afET

2. % gals

3. & SR

4. % SIRGT SR =AMORT

Question Number : 2 Question Id : 630680359418 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which method of quarrying is suitable for costly, soft and stratified rocks such as laterite, marble and slate, also the wastage in this method
is minimum?

Options :

1. ¥ Wedging

2. ¥ Excavating

3. ¥ Tamping
4

. & Boring and charging

Question Number : 3 Question Id : 630680359419 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

7 3R et SUPH BT ITUNT BRap i UR o S aretr alequr &1 a1 82
Options :

1. % TRAIC URI&T0

2. & BT WRI&U &1 JHu

3. 7 TR foig TRI&m

4. % TS 3R TR WiEe UTeqor

Question Number : 3 Question Id : 630680359419 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is the test on bitumen, conducted by using ring and ball apparatus?
Options :

1. ¥ Float test

2. ¥ Loss of heating test

3. ¥ Softening point test
4

. ¥ Flash and fire point test

Question Number : 4 Question Id : 630680359420 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Identify the above figured hammer used for cutting and dressing of stones?
Options :
L.

&

Spalling hammer
2. ¥ Mash hammer
3.
4

. </ Scrambling hammer

Fyed

% Fare hammer

Question Number : 4 Question Id : 630680359420 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Joudl e T Tee & BT sueer BT S e sWied BT gl $ g w07
Options :

1. % T gYveT

2. & BRI gAST

3. & IR gUST

4. 7 THACNT gUTST

Question Number : 5 Question Id : 630680359421 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

3T & SMYUR TR <0 TRRT &1 Sifchan Wi 24 €S S Sa=Iy0T 37 32
Options :

1. ¥ 1%

2. 8 3%
3.9 6%
4. % 10%

Question Number : 5 Question Id : 630680359421 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the maximum permissible 24 hours water absorption of trap stones by volume?
Options :

1. ¥ 1%

2. % 3%
3.9 6%
4. % 10%

Question Number : 6 Question Id : 630680359422 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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TR P SR P 5y fafdl &, er & fFRI W 20 et Agt w1foi s mar S & SiR siiafees |t & @ 10 el =ieT ok 5 fireft
e it g fifed fovar Sirar g2
Options :
1. W fOhlr=r (Reticulated finish)
2. & gHfRIEes AT (Vermiculated finish)
3. & JRICS BRI (Boasted finish)
4, & gdieT f:ri%m (Hammer dressing)

Question Number : 6 Question Id : 630680359422 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which method of stone dressing, a 20 mm wide margin is made along the edges of the stone and irregular sinkings about 10 mm wide &
5 mm deep are marked in the interior portion?

Options :

1. %7 Reticulated finish
2. ¥ Vermiculated finish
3. ¥ Boasted finish

4, ¥ Hammer dressing

Question Number : 7 Question Id : 630680359423 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o TPR &1 WHT S, YS! oIdt 3R T&be DI fobam o Uil Uieriel § SR S 8 gaRI dhobic & ©U | SUANT 631 S § #R
1 g1 -1IRET & e samues =0 § ugiT foba e 82

Options :

1. ¥ gIRIehes Uieas Wiie

2. ¢ 3 TG e

3. % gehe yfaRieh Uidds dide

4. % UGS W Wie

Question Number : 7 Question Id : 630680359423 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which type of cement is resistant to the action of fire, sea water & sulphates and is used as refractory concrete in industries as well as
widely used for pre-casting?

Options :

1. ¥ Supersulphated Portland cement
2. % High alumina cement

3. ¥ Sulphate resisting Portland cement

4. & Portland slag cement

Question Number : 8 Question Id : 630680359424 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Clay fed in Mixture dried and Limestone
correct reduced to fine fed in correct
proportion powder in grinding mill proportion

4
Y

Correction for right
composition and mixed
by compressed air

4

Further sieved

l

Fed into granulator
to form pellets

‘What does box A’ represent in the given flow chart of drv process in the manufacture of cement?
Options :
1. ¥ Limestone fed in correct proportion
2. ¥ Powdered coal, oil or gas used to burn
3. ¥ Gypsum added (2-3%)
4. <7 Water added (12% by weight)

Question Number : 8 Question Id : 630680359424 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TET T & Tt AT §

wfifET gar g ffo |

AT T

I
\lc‘
T =TT AT

A —

e & T A o5 ik & [T e welr =1 7 aew A Far galtar g2
Options :

1. % AT URR Hal 330rd § STa 7/

. & ol Bige, da a1 % SerH b 7T IuTiT fba S @

. & Toouy iy TR (2-3%)

.7 Tt forema T (o & RaE T 12%)

NowoN
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Question Number : 9 Question Id : 630680359425 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

OIS IdE & o8 7019 UT ST SMTARUT & T 32
Options :

1. % 10 gif Hie/dfiex

. 11 T HieydfleR

.8 12 HieydieR

.8 15 Hiewdiex

AWM

Question Number : 9 Question Id : 630680359425 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the covering capacity of gloss paint for flat surface?
Options :

1. # 10 sq. m/litre

2. <7 11 sq. m/litre

3. ¥ 12 sq. m/litre

4. ¥ 15 sq. m/litre

¢

¢

Question Number : 10 Question Id : 630680359426 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS TRCR ITelT g Bl Ue PR B oTT I F SRR 3UATY ST 2
Options :

1. ¢ |dg R HAT > Ul 1 61

2. & Tl > JHHER A > HID gl > BHId Sl
3. % A8 dUR FRAT < 76 T > o

4. & Tdg JIR FHAT <Jueife> HfeT

Question Number : 10 Question Id : 630680359426 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which operations are followed in order to a paint new plastered surface?
Options :

1. < Surface preparation > Sequence of painting

2. ¥ Chalking > Glossy surface > fungus growth > blistering

3. ¥ Surface preparation < Knotting > Painting
4

. 8 Surface preparation < Efflorescence> Painting

Estimating and Costing and Valuation

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 11 Question Id : 630680359427 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

STAM BT HI 4t Faftr 1S arelt SRt & g Iugad § SiR Tad 9ieh 3R a9 372
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Options :
1. & e ol fafe
2. % i ¥U H g @ SIR S T Y v AaR fafy
3. g X fafy
4. % A HIT{afy

Question Number : 11 Question Id : 630680359427 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which method of estimation is suitable for cross-section walls and is most accurate & fast?
Options :

1. ¥ Simpson’s method

2. & Partly center line and partly cross wall method

3. <7 Center line method
4

. ¥ Mid-section method

Question Number : 12 Question Id : 630680359428 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

How is the length of long wall be calculated in the long-wall and short-wall method of estimation?
Options :

1. ¥ By deducting quarter a width to its center line length at each end.

2. ¥ By deducting half a breadth to its center line length at each end.

3. ¥ By adding quarter a width to its center line length at each end.

4. <7 By adding half a breadth to its center line length at each end.

Question Number : 12 Question Id : 630680359428 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3TAM &) d-AaR 3R BIE-EaR Y & deft TR Bt <faTS B 70T B BT S 22
Options :

1. & T% RR R 3P| g WG 6] daTs 9 T TIYUTS AIST gedmi |

2. % TP R IR 3UDT g 391 &1 dars 4 3ieht As18 gerd|

3. 8 Td% RN R 3D g 391 B dals § UH AU dISTs TeHh|

4. < 3P TAD RR R AL G H1 da1s 1 et TeTs Sedr|

Question Number : 13 Question Id : 630680359429 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I8 A a0 B9 11 ¢ S 95d $RS 8 SR ST IR W 31 WD aRid! Bt gorl 8 1fies adld 82
Options :

1. % A YT g

 Rpqe o1 Fom

4. % dgar

w o

Question Number : 13 Question Id : 630680359429 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is the estimation rule that is very efficient and is generally more accurate than other numerical methods?
Options :

1. ¥ Mid-section rule

2. ¢ Simpson’s rule
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3. ¥ Trapezoidal rule

4. ¥ Center-line rule

Question Number : 14 Question Id : 630680359430 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

100 fREeRY TS SRTATR YT BT SFHIT UIaeher daR B | T AR & forg oot e Fafor &t amma . 50,000. Sredard
YT B Hat anTd (uffed B3

Options :

1. 7 3. 5000

2. % %.5,00,000

3. 8 3. 50,00,000

4. % 3%.,500,00,000

Question Number : 14 Question Id : 630680359430 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Prepare an approximate estimate of a hospital building for 100 beds. The cost of construction altogether for each bed is Rs. 50,000.
Determine the total cost of hospital building.

Options :

1. </ Rs. 5000

2. ¥ Rs. 5,00,000
3. ¥ Rs. 50,00,000
4, ¥ Rs, 500,00,000

Question Number : 15 Question Id : 630680359431 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IS 1200 & TR I& # fird) e ) 7ror frad) ot el 22
Options :

1. g9 dieR

2. & gy

3, & gE

4. % fdeq

Question Number : 15 Question Id : 630680359431 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The earthwork in excavation as per IS 1200 is calculated in
Options :

1. Cu.m

2. % Sq.m

3. ¥ Number

4. % Quintal

Question Number : 16 Question Id : 630680359432 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1.5 Hiex I &1 TERTs 3R (FIR T U Hier ) 8t @R/ g W o Hiex Ica+ & for St 87 & fa or=ifid ta
HOIgR fT3eye RIS F18?

Options :

1.2 o017
2. % o48feT
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3.7 062 A
4. % o73fe

Question Number : 16 Question Id : 630680359432 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the recommended one mazdoor output constant for north zone for a m
and removal (up to one meter from edge)?

Options :

1. ¥ 0.17 days
2. ¥ 0.48 days
3. ¢ 0.62 days
4. 8 0.73 days

3 excavation over areas (Hard/dense soil), depth up to 1.5 m

Question Number : 17 Question Id : 630680359433 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR &1 fop fafyy o Siae R Jeuigr Wik & &0 B U Ay i off ol 8 SR GERwif SrufRid A o 82
Options :

1. % 9Nl &1 AT Sfep ARy

2. & A o fafy

3. & {ar 33eye fafd

4. Hi v fafy

Question Number : 17 Question Id : 630680359433 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which method of depreciation, a fixed sum is charged as depreciation amount throughout the life time and inflation assumed absent?
Options :

1. ¥ Sum of years digit method

2. ¥ Declining balance method

3. ¥ Service output method

4. <7 Straight line method

Question Number : 18 Question Id : 630680359434 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A AR # GuRigaeR | U7 HieR Tled B & it STl & & 7T HelgR 3M13eye RRIS &1 uga™ B2
Options :

1. % o0s5f

2. % 110fe

3.8 150feA

4.7 180 &

Question Number : 18 Question Id : 630680359434 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify a mazdoor output constant for north zone for a m3 tile work in superstructure in cement mortar?
Options :

1. 8 0.5 days

2. ¥ 1.10 days

3. ¥ 1.50 days
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4. %7 1.80 days

Question Number : 19 Question Id : 630680359435 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tfe; famran 1a § a1 Tuifad fossran Ugars gr1 i fasam simar § O gevicen & oi- I fafy Reffa o st &2
Options :

1. & i B Yedg™ fabrrar fafd

2. 7 Gicp o1 [l i fafdy

3. & Yo Bl foxman fadry fafey

4. % AN & YR R T

Question Number : 19 Question Id : 630680359435 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which method of valuation if the rent is known or the likely rent is determined by inquiries?
Options :

1. ¥ Depreciation rent method of valuation

2. < Rental method of valuation

3. ¥ Rental development method of valuation

4. ¥ Valuation based on cost

Question Number : 20 Question Id : 630680359436 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3TETH 1200 F IR AT 3R FSiHat & T, e §i1 H Al & B & U WY 1 3HTS 3182
Options :

1. v g HicR

¢ gif iR

R

Question Number : 20 Question Id : 630680359436 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The unit of measurement for woodwork in doors and windows frames, rafter beams as per IS 1200 is
Options :

1.< Cu.m

2. % Sq.m

3. ¥ Number

4

Py

. % Quintal

Question Number : 21 Question Id : 630680359437 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the estimation rule mainly based on the Newton-Cotes formula which states that one can find the exact value of the integral as an
nth order polynomial?

Options :

1. ¥ Mid-section rule
2. ¥ Simpson’s rule

3. </ Trapezoidal rule
4. ¥ Center-line rule
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Question Number : 21 Question Id : 630680359437 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
BT U Y YeA-diey T R UG SAM HgH &1 U= &3 St §aTdi & 6 B8 nd 5H & 95U & & H A3 BT Jib A
T el 2
Options :
1. % T YT g
& Ry &1 g
. SUgiigsd
4. & dg-x@ Aga

w o

Question Number : 22 Question Id : 630680359438 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

BIHadh R YEeIHUl B BleHR Heifad BRisd T g fier vafe Witic dwic & e I &7 F g srRifid te Teig?
3fr3eye FRRTE F1 82

Options :

1. & 1.55fq

2.8 1.75fA

3.7 250 feA

4. % 295feH

Question Number : 22 Question Id : 630680359438 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the recommended one mazdoor output constant for north zone for a m? reinforced cement concrete in situ in suspended floor/roofs
excluding formwork and reinforcement?

Options :

1. ¥ 1.55 days
2. ¥ 1.75 days
3. 7 2.50 days
4. ¥ 2.95 days

Question Number : 23 Question Id : 630680359439 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T el 3 9000 TUA H U TRARY @I, A=A 1 Suaintt shae 10 ad § 3R Shiaerer & ofd & T=i=RY &1 3rATd Ta1d 5
1800 T B | GeUgTl Yo FeiRd B

Options :

1. 8%

2. % 9%

3.9 10%

4. % 12%

&

o

Question Number : 23 Question Id : 630680359439 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A factory purchased a machinery for Rs 9000, the useful life of the machinery is 10 years and the estimated salvage value of the machinery
at the end of the lifetime is Rs 1800. Determine the depreciation charge.

Options :
1. 8%
2. ¥ 9%
3. % 10%
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4. % 12%

Question Number : 24 Question Id : 630680359440 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

IE DI T HARIT § e [l I3 e &t orafy # v ISy Wik Suee v & forg i safy & +fik oo Aidy wshafs
TS &R TR U JAM AT T ST J1MRT BT ARTGH (a1 ST F1ige?

Options :

1. % WpUHs

2. & fEUSic B

3. % hRg s
L

Question Number : 24 Question Id : 630680359440 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is an arrangement where uniform or equal deposits must be contributed to a specified compound interest rate within fixed periods in
order to have a specified amount available in a given future period?

Options :

1. ¥ Scrap fund
2. % Deposit fund
3. ¥ Fixed fund
4. ¢ Sinking fund

Question Number : 25 Question Id : 630680359441 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HIHad 3R YEAIHR0 DI BISHR 15 JH HIer I Swoid & g9 Hiex Jaferd Hide dwie & o Il &3 & fo iR emseye
RRIE & UgaH 2

Options :

1. % 0.05 e

.Zo.10fE

L8 020fF

4. 8 0257

w N

Question Number : 25 Question Id : 630680359441 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify a mixer output constant for north zone for a m
excluding formwork and reinforcement?

Options :

1. ¥ 0.05 days
. %7 0.10 days
. ¥ 0.20 days
. ¥ 0.25 days

3 reinforced cement concrete in situ in CHAJJAS up to 15 cm in thickness

A VS I o]

Question Number : 26 Question Id : 630680359442 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T Bt {6 ugfa & Yo o IR UFT & fauTord fosar S =nfet ! R, 3d, w3 ok arare 3R Rasfean

Options :
1. & ebic & Gedgid fafd
2. & ol G o] Hiell g
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3. 8 TIY P MYR W TIHA
4. & AT & YR TR e

Question Number : 26 Question Id : 630680359442 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which method of valuation, the building should be divided into four parts viz. wall, roofs, floors and doors & windows?
Options :
1. ¢ Depreciation method of valuation
. ¥ Direct comparison of the capital value

o

2
3. ¥ Valuation based on profit
4, = Valuation based on cost

Question Number : 27 Question Id : 630680359443 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS 1200 P IR =AM IR [simat ot fhfe R fewr, 2R dive) § dws! & B & ol 11T &1 3HTS fhamt 82
Options :

1. & g HIeR

2. % @il MR

3. e

4. % fdeq

Question Number : 27 Question Id : 630680359443 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The unit of measurement for woodwork in doors and windows fittings (like hinges, tower bolts) as per IS 1200 is
Options :

1. ¥ Cu.m

2. % Sq.m

3. ¥ Number

4. ¥ Quintal

Question Number : 28 Question Id : 630680359444 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR &1 o fafd &, A= &1 Siia 371 Soh1sal &1 Ul & U § e 31 STl § S A=A A1 St & GRIF 3dred
H DI JAE B 82

Options :

1. & qul o1 ART 3fep fafd

2. & Rgfdhr e fafdy

3.7 YaT 33eye fafy

4. % et Y fafy

Question Number : 28 Question Id : 630680359444 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which method of depreciation, the life of the machine is expressed in terms of number of units that a machine is expected to produce
over the estimated life?

Options :
1. ¥ Sum of years digit method
2. ¥ Sinking fund method

3. ¢ Service output method

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 13/45
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4. ¥ Straight line method

Question Number : 29 Question Id : 630680359445 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

gﬁﬁ%%mwmﬂamﬁaﬁ?@wmww&wﬁqﬁaﬁ%mﬂmwaﬁwﬁﬂmw

Options :

1. % 13feq
2. % 15feT
3. % 1gfe
4. 20

&

Question Number : 29 Question Id : 630680359445 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the recommended one carpenter output constant for north zone for a m?> door and window CHOKHATS coniferous and teak wood
wrought and rebated?

Options :

1. ¥ 13 days
2. ¥ 15 days
3. ¥ 18 days
4. <7 20 days

Question Number : 30 Question Id : 630680359446 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The unit of measurement for centering and shuttering formwork of roofing as per IS 1200 is
Options :

1. ¥ Cu.m

2.9 Sq.m

3. ¥ Number

4. ¥ Quintal

Question Number : 30 Question Id : 630680359446 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

IS 1200 & 3TUR B & HefT AR e widad & fore 71 &1 3618 o1 82

Options :
1. % g HIR
2./ MR
3. % FE
4, & febed

Surveying
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null
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Question Number : 31 Question Id : 630680359447 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

QT B G IR TR B HH HA B DI AT A TR SR AT €, BT Teral el &1 TUMHT R Hig oid el 82
Options :

1. & oA BT SHaTs Ay

2. & I SR Yo B fafdy

3. & GRS g fafe

4. % YBT3 FHA e

Question Number : 31 Question Id : 630680359447 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which method for the booking of readings and reducing of the levels is simple and rapid however, there is no check on the calculation for
intermediate sights?

Options :

1. ¥ Height of instruments method
2. ¥ Rise and fall method

3. 8 Fly levelling method

4. ¥ Profile levelling method

Question Number : 32 Question Id : 630680359448 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
105

100
95
90

‘What does the equally spaced contour as shown in above figure indicates?
Options :

1. ¥ Flat surface

2. ¥ Steep ground

3. <7 Uniform slope
4

. & Uneven surface

Question Number : 32 Question Id : 630680359448 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
105-
100

95
90

IRIFT T F 2 7T T U el TG F;T 2T 87
Options :

1. ¥ qUIc 9dg

2, % TSI

3. ¢ UDTHA el

4. ¥ AT Adg
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Question Number : 33 Question Id : 630680359449 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gfe gdarur T ST aTell & Sgd o181 e & SR SHIF &1 IdR-4eTd Sgd 3iee gl ], o Jured Xdich] b i Al fafd Suged 22
Options :

1. & diedt fafe

7 Tl o ol

AWM

Question Number : 33 Question Id : 630680359449 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which method of contouring, is suitable if the area to be surveyed is not very large and undulation of the ground is not much?
Options :

1. ¥ Direct method

2. ¥ Radial line method

3. ¥ Cross-section method

4. </ Method of squares

Question Number : 34 Question Id : 630680359450 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T2t BT 1 U BI TV B 1 fo e &, Hieiar oiepfa 1 g¢ wareil & =0 & S=iia Sl § Saie URaATidd T8 Idg) i
fofdiar Yarsll g fawam ST 32

Options :

1. & PIY-JaRH gRI

2. & el gRI

3. % GHF-TERTS dTall Sepiad! gRT

4. % 59 Sifom = fean T de wHAw 908 8l

Question Number : 34 Question Id : 630680359450 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which method of computing the volume of earth work, the existing contours are plotted as firm lines whereas the proposed formation
surfaces are shown by dotted lines?

Options :
1. ¥ By cross-sections
. </ By horizontal planes

&3

2
3. ¥ By equal-depth contours
4. + When the finalized surface is a level surface

Question Number : 35 Question Id : 630680359451 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& THATHRUI 3R U&Y & Iy fofg THATHRON &1 UbR & e smenfa gl
Options :

1. & oS bR

2. 7 e TR

3. & 3faRes TATHRT

4. ¥ JHY THATHRO
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Question Number : 35 Question Id : 630680359451 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Area sampling and point sampling with interpolation are two types of GPS based
Options :

1. ¥ Soil sampling

2. < Map sampling

3. & Space sampling

4. ¥ Time sampling

Question Number : 36 Question Id : 630680359452 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TTUH URac &1 9T T & for fove ueiet Reeite SR Riked &1 SuanT foran s &
Options :

1. &/ BICHIeR

2. & WIYROT It FTRT

3.8 WHTW

4, % TS BT

Question Number : 36 Question Id : 630680359452 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

To detect the temperature changes, the thermal remote sensing system uses
Options :

1. & Photometers

2. & Ordinary TV camera

3. ¥ Antenna arrays
4

. ¥ Wavelength camera

Question Number : 37 Question Id : 630680359453 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fofifad 5 3 19 Fg 3 3R ged Tl & T1Y T Hobfad g Siafadl gRT G a1 g2
Options :

1. & °re

2. g

3. 7 didid

4. % RS

Question Number : 37 Question Id : 630680359453 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following is indicated by approximately concentric closed contours with decreasing values towards center?
Options :

1. ¥ Valley

2. ¥ Hills

3. ¥ Pond

4. ¥ Ridge

Question Number : 38 Question Id : 630680359454 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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ISR 3 3T 1 TTUMHT R B fob fAfY H, grres A @ $eaftR ra-Jex & 3 e feu oid & iR fhr ig-
Yol &3 F A B IUMT B ST 82

Options :

1. & &fas Us R

2. ¢ SR WS AR

3. & 1Y &fas aai grr

4. & MY FalR Tag! grRI

Question Number : 38 Question Id : 630680359454 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

In which method of computing the reservoir volume, dimensions of the vertical cross-sections are obtained from the contour map and then
volume is calculated from the cross-sectional areas?

Options :

1. ¥ By taking horizontal sections
2. «7 By taking vertical sections
3. & By direct horizontal planes
4. ¥ By direct vertical planes

Question Number : 39 Question Id : 630680359455 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What should be the contour interval for location surveys with scale 1 cm =50 m to 200 m?
Options :

1.¥4mto6m

2.9 02mto0.5m

3.%05mto2m

4. 2mto3m

Question Number : 39 Question Id : 630680359455 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 T = 50 TR T 200 Hiex T THF T 1Y A FAI0T 3 [T THT 3faRTd 31 5191 INeT?
Options :

184l

C%o2W¥osH

s osHIR2H

723w

AW

Question Number : 40 Question Id : 630680359456 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DI 91 SAC D RSIense dhad HI0 AT & o1y 3fhal SXHT T S Tehdl § SR SiTel RSIage qeded USRIl & WiY-
T SR 232 SIHY A0 HELR F B g & A1 I 82

Options :

1. ¢ 915ES €1-1000

2. & FIES T1-2000

3. % G18es d1-2000 TH

4. & BT A-16 CfIwB

Question Number : 40 Question Id : 630680359456 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which electronic theodolite can be used alone for angle measurement only and is compatible with wild theodolite accessories as well as
connect to computers with RS 232 interface?

Options :

1.+ Wild T-1000

2. ¥ Wild T-2000

3. ¥ Wild T-2000 S

4. ¥ Wild T-16 tavistock

o

Question Number : 41 Question Id : 630680359457 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Wﬁ?ﬂﬁﬁﬁ,wﬁméﬁnﬁﬁgxiﬁﬁ%wgﬁwm%@@éﬁm&m%ﬁﬂ@@rww
PAlg?

3\(I)itions:

1. % WX oarer fafdy

2. % TITga dafe fafey

3.  TRTS SAafei fafer

4. % faWae dafe fafer

Question Number : 41 Question Id : 630680359457 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which method of levelling, the surveyor starts levelling work with a back sight on the bench mark from a convenient instrument point, if
the worksite is away from the benchmark?

Options :

1. ¥ Simple levelling method

2. ¥ Profile levelling method

3. <7 Fly levelling method

4. ¥ Differential levelling method

Question Number : 42 Question Id : 630680359458 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

FARIFGRIVEA B T A g I U &1 irell €, oY SIHdR TR 3fied o101 & =0 § AT S g 1
Options :

1. % G Bl

.8 EAF Bl gy

. & gfas o

. SR B

AWM

Question Number : 42 Question Id : 630680359458 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The numbers that may be provided by the total station are derived also from which is usually measured as a zenith angle.
Options :

1. # Slope angle

2. ¥ Slope distance

3. ¥ Horizontal angle

4. ¥ Vertical angle

Question Number : 43 Question Id : 630680359459 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
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T WM & ST JUBRY F FHTI-3H& BT HaTs BT ITAN Hb FHaferiad # & frge! o 1 ol 82
Options :
1. & SR SR
2. 3T Bl AR
3. % afawrgd
4. % FEARRGY

Question Number : 43 Question Id : 630680359459 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is calculated using height of the tilting-axis of the instrument under the total station?
Options :

1. ¥ Vertical difference

2. < Elevation difference

3. ¥ Horizontal distance

4. ¥ Vertical distance

Question Number : 44 Question Id : 630680359460 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T &) Fafafed & ¥ oF W fagvd oo & gwifd 89
Options :

1.« Frerclt S &1 SR IAad1 & WY G-3MHR $I i 3|
% Sl ST B SR I o T d1-3MHR B JHr 3@ |
. % HE DI SR Iad Tl & 1Y Ydbiad g |

. % $Hg B 3R ged ! & 1Y Yobiad ag SHfadT|

N

AW

Question Number : 44 Question Id : 630680359460 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following characteristic of contour indicate ridge?

Options :

1. ¢ Contour lines with U-shape with convexity towards lower ground.
£ Contour lines with V-shape with convexity towards higher ground.

&3

2.
3. ¥ Concentric closed contours with increasing values towards center.
4. = Concentric closed contours with decreasing values towards center.

Question Number : 45 Question Id : 630680359461 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AR T TTE §Te TR & S STATRIT &N Bt 0T fohdah GRT B1 o Jabell 87
Options :

1. & o fm

2
3. V GHRIHR G
4

Question Number : 45 Question Id : 630680359461 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The reservoir capacity corresponding to a given water level in the reservoir can be calculated by
Options :
1. ¥ Square rule
https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 20/45
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2. ¥ Triangulation formula
3. <7 Trapezoidal formula

4. ¥ Straight line formula

Concrete Technology

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 46 Question Id : 630680359462 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST BIS 12269 (1987) H MR FH1 w1 1 Is gl g2
Options :

1. 82338

2. %3308

3.8 4308

4. 5398

Question Number : 46 Question Id : 630680359462 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which grade of OPC is defined in IS code 12269 (1987)?
Options :

1. ¥ 23 Grade

2. ¥ 33 Grade

3. ¥ 43 Grade

4, <7 53 Grade

Question Number : 47 Question Id : 630680359463 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3 et o 33 Us il Tide = Idte wifdd frant 81T anfewe
Options :

1. ¥ 13 MPa

2.7 16 MPa

3. ¥ 22 MPa

4, % 27 MPa

Question Number : 47 Question Id : 630680359463 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What should be the compressive strength of 33 grade of OPC cement at 3 days?
Options :

1. ¥ 13 MPa

2. %7 16 MPa

3. ¥ 22 MPa

4. ¥ 27 MPa
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Question Number : 48 Question Id : 630680359464 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e IUHRUT BT IUTIT B YiHe WR I 1 gieqor fpar Srar g2
Options :

1. & el uiefo

2. & G IR URI&f0

3. & gaSdl URIE

4. % = QIS TRiamn

Question Number : 48 Question Id : 630680359464 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which test on cement is conducted using Vicat’s apparatus?
Options :

1. ¢ Consistency test

2. ¥ Air permeability test

3. ¥ Fineness test

4. ¥ Tensile strength test

Question Number : 49 Question Id : 630680359465 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Febic & aual i dfeiT & forg Fafafed & 9 oF o ol vt fafy et o
Options :

1. % T=fi= ST

4. & g S

w o

Question Number : 49 Question Id : 630680359465 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following method for batching of ingredients of concrete is not an accurate method?
Options :

1. ¥ Machine batching

2. % Compaction batching

3. <7 Volume batching

4. ¥ Weight batching

Question Number : 50 Question Id : 630680359466 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SSTEH & FTH & YR, SIA-HHE ST Sg+ IR PRI RS A WP ieId bebic i aidbd B gl
Options :

1. % ORI 8T foba &I bl

2. % YAMEAT®

3. % §gdl 8

4. FHEISN§

Question Number : 50 Question Id : 630680359466 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
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According to Abraham’s law, fully compacted concrete’s strength as the water-cement ratio increases.
Options :
L.

2. ¥ remains same

pxi

cannot be defined

3. = increases

4. < decreases

Question Number : 51 Question Id : 630680359467 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fehic B M30 TS F S A= & e ATes fomrer m T il 62
Options :

1. ¥ 3.5 N/mm?

2. % 4.0 N/mm?

3. ¢ 5.0 N/mm?

4. % 5.5 N/mm?

Question Number : 51 Question Id : 630680359467 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

What is the standard deviation assumed for good control of M30 Grade of concrete?
Options :

1. % 3.5 N/mm?

2. % 4.0 N/mm?

3. 5.0 N/mm?

4. % 5.5 N/mm?

Question Number : 52 Question Id : 630680359468 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A FRRAT & TiHc U H G5 & T B 09 aP Wb, 96 a9 g U MIGE Yed P Tg| Ugd oI, fade & SUHR ¥ HiHe BT
B a1 o7 FReffed faar sar g2

Options :

1. & A"

2. % GHiISS &wd

3. 7 GO Ye Bl

4. % gegdl URIEu

Question Number : 52 Question Id : 630680359468 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which property of cement is determined with Vicat’s apparatus, by observing the penetration of needle into cement paste of standard
consistency until it reaches a specified value?

Options :

1. ¥ Fineness

2. ¥ Compressive strength
3. &7 Setting time

4. ¥ Soundness test

Question Number : 53 Question Id : 630680359469 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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7 e 9 53 U SRt Widic @i Iuts e fobait g1t W
Options :
1. ¥ 22 MPa
2. ¥ 27 MPa
3. ¥ 33 MPa
4. < 37 MPa

Question Number : 53 Question Id : 630680359469 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

What should be the compressive strength of 53 grade of OPC cement at 7 days?
Options :

1. ¥ 22 MPa

2. ¥ 27 MPa

3. ¥ 33 MPa

4.+ 37 MPa

Question Number : 54 Question Id : 630680359470 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 faft) &) ugam &% St bevle & SUIfAHRUT & oy S 82
Options :

1. 7 A gIcd fafey

2. & Y&Adl Hi® fafy

3. & gaq g fafy

4. % HFHMA T

Question Number : 54 Question Id : 630680359470 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the method that is irrelevant to proportioning concrete?
Options :

1. %/ Minimum density method

2. ¥ Fineness modulus method

3. ¥ Minimum void method

4. ¥ Arbitrary method

Question Number : 55 Question Id : 630680359471 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

Febic A & o S 31 o O fafty 951 & SR Feayul debic & foTT S8 SRR S{U-TT ST A1 e
Options :

1. % TR ofe

3. % giegd ot

4. 7 G5 ST

Question Number : 55 Question Id : 630680359471 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

Which method is a correct method of batching for concrete ingredients and should be adopted for important concrete, invariably?
Options :

1. ¥ Machine batching
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2. ¥ Compaction batching
3. ¥ Volume batching
4. </ Weight batching

Question Number : 56 Question Id : 630680359472 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S & OH § dwifen & g, sl o 510 I B4 fran {30 Safma w uige sifts @RI ae ugemn smem?
Options :

1. ¥ 0°C

2. % 2°C
3. 5°C
4. % 10°C

Question Number : 56 Question Id : 630680359472 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For cold weather concreting, the concrete shall be delivered to the point of placing at not less than
Options :

1. 8 0°C

2, 8 2°C
3. 5°C
4. ¥ 10°C

Question Number : 57 Question Id : 630680359473 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the maximum free water cement ratio for plain concrete of moderate exposure with normal weight aggregates of 20 mm nominal
maximum size?

Options :
1. ¥ 0.65
2. 0.60
3. %050
4, % 045

Question Number : 57 Question Id : 630680359473 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

20 Tt AHERE 3B aH SR & JHRI doi- =Y & 1Y HEH TRUISR & IIe dhebic & o Midhdd God Sidl YiHe Siurd
1 UgIH B2

Options :

1. ¥ 0.65

2.7 0.60
3. %050
4

o

.= 045

Question Number : 58 Question Id : 630680359474 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FEIc IR TTH HIH & THIE B TgaM B2

Options :

1. 7 3 & SR deit § arefieon|
2. % R UG B U BT 5 G
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3.« AR
4. & IR AU & T B o SIRIF.

Question Number : 58 Question Id : 630680359474 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the effect of hot weather on concrete?
Options :
1. & Rapid evaporation during curing.

. ¥ Decreased tendency to cracking.

o

2
3. ¥ Enhancement in strength.
4. = Easiness in controlling the air content.

Question Number : 59 Question Id : 630680359475 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e Sid e SJUTd &4 g1 <l dobic U0 BT HTER T R
Options :

1. % 3O st iRt g,

2. % TR § HoRA HH gIm.

3. Ug I UG TR,

4. & TN I T U BRI

Question Number : 59 Question Id : 630680359475 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What will be the behavior of concrete mix if the water cement ratio is low?
Options :

1. ¥ It will have good workability.

2. ¥ The stiffness in consistency will be low.

3. <7 It gives high strength.

4. ¥ It will lead to high durability.

Question Number : 60 Question Id : 630680359476 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

20 T AR G aH SMHR & THRI Toi- THEd & 1Y HebIc & JATH TS M30 & Uaiad dHepie & fod b ad Jad o
ive SFguTd 1 g

Options :

1. ¥ 0.55

2. %050
3,045
4, % 0.40

Question Number : 60 Question Id : 630680359476 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What will be the maximum free water-cement ratio for reinforced concrete of M30 minimum Grade of concrete with normal weight
aggregates of 20 mm nominal maximum size?

Options :
1. ¥ 055
2. %050
3.7 045
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4. % 0.40

RCC Design
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 61 Question Id : 630680359477 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Siiafes d-Biem el F Rt st Rivad fis @ team %
Options :

1. % PR B BIsH, Sis J U §H WD BIel Wi Bi fquherdm
2. % T Bl BISHR, SIS U e SH WIS [gol 9l ! fawad!
3. @ TR-UGad &3 B SRl [ahadil

4. Ggad 8 | e T gediarul &t s fawaan

Question Number : 61 Question Id : 630680359477 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the bond failure mode for interior beam-column joints?

Options :

1. ¥ Failure of the beam plastic hinge zones adjacent to the joint, except through shear
2. ¥ Failure of the beam plastic hinge zones adjacent to the joint, except through flexure
3. ¥ Shear failure of the non- joint zone.

4. < Bond failure of the longitudinal beam reinforcement in the joint zone.

Question Number : 62 Question Id : 630680359478 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fEoz el & o, a1 & dvic o Toiie wfdd & aeiau- o Sifaw e fRufa & fazdwor & fagvar wfe AT
S|

Options :

1. € 03370

2. 0.67 AT

3. % 0.78 7T

4, % 0.81

Question Number : 62 Question Id : 630680359478 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For design purposes, the compressive strength of concrete in the structure shall be assumed to be the characteristic strength in the
analysis at the ultimate limit state of flexure.

Options :

1. ¥ 0.33 times
2. %7 0.67 times
3. ¥ (.78 times
4, % (.81 times
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Question Number : 63 Question Id : 630680359479 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Wi feied &1 &t YAdH YR AISTs T 8T AMRT?

Options :

1. & 100 foe

2. & 125 foredt

3.7 150 Tt

4. % 200 fore}

Question Number : 63 Question Id : 630680359479 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What should be the minimum bearing width of steel lintel beam?

Options :

1. ¥ 100 mm

2. ¥ 125 mm

3. % 150 mm
4

. ¥ 200 mm

Question Number : 64 Question Id : 630680359480 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

TG BT 4} & AT T1G TS HealeR IHTT & 1T HeReT Yo dul &) AfdHad gl o1 g
Options :

1.¥4d

2. % 0.5d

3. 0.75d

4,8 2d

Question Number : 64 Question Id : 630680359480 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

What will be the maximum spacing of shear reinforcement for vertical stirrups measured along the axis of the member?
Options :

1. % d

2. 8% 0.5d

3.7 0.75d

4.8 2d

Question Number : 65 Question Id : 630680359481 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e Uaferd hepie SH & fEwie #, TiieT Yedie vl SU d1d de 8] Ugd Iebdl g, Tfe

Options :

1. 7 19 BT TIdT Ye& BT 3JUTd HH &

2. % SUH YUST YEeIhRul &b SHUR WM Hepie R0l Bidl |
3. & fRu gt AT IUh &,

4. % 90 B H IUS &A1 dId I o Holgd (a1 T g |

Question Number : 65 Question Id : 630680359481 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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In design of doubly reinforced concrete beam, the compression reinforcement may not reach yield stress if
Options :
1. <7 The tensile reinforcement ratio of the beam is low.
2. ¥ It has common concrete cover over compression reinforcement.
3. ¥ The beam is narrow or shallow.
4. ¥ The beam is reinforced with low yield strength steel.

Question Number : 66 Question Id : 630680359482 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the assumption for the overall depth of the T-beam, when it is simply supported at the ends?
Options :

1. ¥ 1/25 to 1/20 of the span

2. ¥ 1/15 to 1/20 of the span

3. ¥ 1/10 to 1/12 of the span

4. <7 1/12 to 1/15 of the span

¢

Question Number : 66 Question Id : 630680359482 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT B} TR TR & oY T YRON B, 99 39 Fawt RRI W guifa fesar wrar g9
Options :

1. & WAP 1/25 9 1/20 dH

2.8 WA 1/159 1/20 dh

3.8 WP /109 1/12 TP

4. TS /12T 1/15TF

Question Number : 67 Question Id : 630680359483 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o fRufa &, Rite R oM aren YR ar 31 I 91 1 & RIaR $I1E h I $ad | FRd o & YR & SRR g
Options :

1. & S TP NP P! AR B TS THIE T & 1S F HA G

2. S9 Gl IR P SIaR B AdTs THTE! T & S A FH gl

3. % Od ol & SR YR 98 HR Tl Wi 8|

4. 8 99 [ddd & SR Gd WM gl

Question Number : 67 Question Id : 630680359483 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which case, the load acting on the lintel will be equal to the weight of the masonry contained in the rectangle of height h equal to the full
height H of the wall?

Options :

1. ¥ When the length of wall on one side is less than half the effective span.
2. <7 When the length of wall on both sides is less than half the effective span.
3. ¥ When there is load carrying slab over the lintel.

4. % When there are openings over the lintel.

Question Number : 68 Question Id : 630680359484 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
SIohC SitH o foTT b1 BT &f0T a1 Ferell bt B1eh 8-

Options :

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 29/45

Page- 29



9/20/23, 1:06 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action

1. g R IR 0 79 ¥ [idd R W o1idepan o9 &
2. & i R W 01 ¥ god R | siitieas 09 aob
3. % A RR R Y 99 ¥ god RR R sifteas a9 9@
4. % TP BR R GAdH AF I od SR W HHad AF ddb

Question Number : 68 Question Id : 630680359484 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The bending moment for cantilever beam varies from

Options :

1. ¢ a zero value at the free end to maximum value at the fixed end
2. % azero value at the fixed end to maximum value at the free end

3. ¥ azero value at the support end to maximum value at the free end

4. ¥ a minimum value at the support end to maximum value at the free end

Question Number : 69 Question Id : 630680359485 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

;ﬁé@@%%ﬁﬁ%%ﬁﬁﬁiﬂwﬁﬁ%m 10 HIeR T & T & oY T SR THTdT TTeRTS, S1UTd T 1 Hed ol gl

Options :
1. 87
2.8 16
3.9 20
4,726

Question Number : 69 Question Id : 630680359485 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What should be the basic value of span to effective depth ratio for span up to 10m for continuous beam in case of design of one-way slab?
Options :

1.%7

2.8 16

3.% 20

4. 26

Question Number : 70 Question Id : 630680359486 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

THd YEoidHRUl A & (AU SIS Gealarvl &1 SHfidad &= 1 g1 AT, Set HTe ursf T & fow i gedionul &1 3o
SR Ha febar Sgm?

Options :

1. ¥ 0.08 BD

2. ¥ 0.06 BD

3.9 0.04 BD

4. ¥ 0.02 BD

Question Number : 70 Question Id : 630680359486 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

What should be the maximum area of compression reinforcement for singly reinforcement beams, where compression reinforcement shall
be enclosed by stirrups for effective lateral restraint?

Options :
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1. ¥ 0.08 BD

2. ¥ 0.06 BD

3.+70.04 BD

4. % 0.02BD

Soil Mechanics

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 71 Question Id : 630680359487 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Froffad & & S T BRE Ve YHIT & HRO U B HAd 311 J Aeg T 82
Options :

1. % T S AR HH G

 TH P} HET dgAT

& IR FHI &t A

. 8 qdd Tuq

Bow o

Question Number : 71 Question Id : 630680359487 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following factor helps the particles to move closer because of the lubrication effect?
Options :

1. ¥ Decreasing moisture content

2. ¢ Increasing moisture content

3. ¥ Constant moisture content

4. ¥ Constant compactive effort

Question Number : 72 Question Id : 630680359488 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T & T H JHHT & o0 TgT HYUH &1 UgaH B2

Options :

</ g U UIpTae Ufehar g
2. & TOEt 4 arg Rfdad! o1 ger
3. & dicbIferep Tel

Question Number : 72 Question Id : 630680359488 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the true statement for consolidation in relation to compaction?
Options :

1. % It is a natural process.

2. ¥ Removal of air voids from the soil.

3. ¥ Instantaneous phenomenon.
4

. & Soil remains partially saturated.
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Question Number : 73 Question Id : 630680359489 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sta-argft fRafor 3t e o fafy & frdh & e e m TEE Y 24 9 Bt 3afy & forg R arame w graman i @ o a1
THA BT YT qof [T ST 82

Options :

1. % Urgpl-HieR fafy

F S I S

Question Number : 73 Question Id : 630680359489 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which method of water-content determination, consists of drying a weighed moist sample of a soil at a controlled temperature for a period
of 24 hours after which the dry weight of the sample is taken?

Options :
1. ¥ Pycnometer method

& Rapid moisture dry method

54

o

2
3. « Torsion balance moisture dry method
4, <7 Oven-drying method

Question Number : 74 Question Id : 630680359490 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FHAR 1 T el & fo S8 UR FuRor 3t o1 T fafy v Iugad 82
Options :

1. & SR D A

2. & oq fowyTo fafy

3. &/ XA U fafey

4. % go °Icd fafy

Question Number : 74 Question Id : 630680359490 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is the unit weight determination method being most suitable for hard or gravely soils?
Options :

1. # Core cutter method

2. ¥ Water displacement method

3. ¢ Sand replacement method

4. ¥ Weight density method

Question Number : 75 Question Id : 630680359491 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e ST aTell St & SISl 3 SN b fIZAwT febaep GRT feba wireln 82
Options :

1. & 3fqure fo=eryur
2. Ia] fa=ayu

3. % gIgSMIeR fawer
4. % fude fazemor
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Question Number : 75 Question Id : 630680359491 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Grain size analysis of coarse-grained soils is carried out by
Options :

1. ¥ Sedimentation analysis

2. < Sieve analysis

3. ¥ Hydrometer analysis

4. ¥ Pipette analysis

Environmental Engineering

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 76 Question Id : 630680359492 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SIS & 3U-HAE Hid Bl U &Y $I- 1 52
Options :

1. v gHUs 4l

& SR SR

Uiy

N

Bow o

Question Number : 76 Question Id : 630680359492 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is one of the forms of sub-surface source of water?
Options :

1.« Infiltration galleries

2. ¥ Storage reservoirs

3. ¥ Lakes and streams

4. ¥ Ponds

Question Number : 77 Question Id : 630680359493 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR A & AR T & U &1 diee 7 (ier i) HEEIEY
Options :

1. #2540

2. % 4.0-6.5

3.v6.5-8.5

4. % 8.5-10.0

Question Number : 77 Question Id : 630680359493 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The drinking water according to Indian standard should have pH value (acceptable limit).
Options :
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. ¥2540
.8 4.0-65
.7 6.5-8.5
. #8.5-10.0

AW O =

Question Number : 78 Question Id : 630680359494 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g oot Shier AR &, srfurm Rreeht & Aremm A g Ut ) Rioprem & RT3 Ot R wifies gaa o S 22
Options :

1. & IR IO

2. % FARIBRT

3. % 3 fafmg

4. 7 TaURId RRERO

Question Number : 78 Question Id : 630680359494 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which water purification method, mechanical pressure is applied to an impure solution to force pure water through a semipermeable
membrane?

Options :

1. ¥ Solar disinfection
2. ¥ Chlorination

3. ¥ Ton exchange
4

. ¥ Reverse 0smosis

Question Number : 79 Question Id : 630680359495 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ot faeror @t i it Al gerd g 3tk fhwrad fadzor gueht @ Stet armua: it & sravadar 781 gl 82
Options :

1. -3t Jore

2. BBy YUITe!

3. & TR yomelt

4. & HEES TE@AHYUT 3R T oret

Question Number : 79 Question Id : 630680359495 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

Which method of water distribution is the most reliable and economical distribution system where no pumping is required normally?
Options :

1. ¥ Run-off system

2. ¢ Gravity system

3. ¥ Pumping system

4. ¥ Combined gravity and pumping system

Question Number : 80 Question Id : 630680359496 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T & PIeTIRIE 31 BIe Al 3 Ugem &3, S U B ST B T uHTd fAfy ver et 7, graife a8 aeil R R ok
ggfere it HamT, RafEiT ger 3nfe o Bigehr MU TR SHb1 SUANT 78] fbar Sire 82

Options :

1. ¢ IRISTH! {0 SRR
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Question Number : 80 Question Id : 630680359496 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the minor method of disinfection of water, that offers an effective method of sterilization of water, however it is costly method and
so not commonly used except private buildings, swimming pools etc?

Options :

1. &7 Ultra-violet ray treatment

[\

. ¥ Excess lime treatment
3. & Silver treatment

4. ¥ Nuclear boiling method

Question Number : 81 Question Id : 630680359497 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

iR 5 9 1F 91 9a-1% o1 SRy 82

Options :

1. & g3 3ffer Uy

2. % Ba IR M why

3. « BidiId Uiy

4, % 3ARA & RIS BT TH B & 1T SUANT H1 S ATl ST ¥ FHepTe arer s@xy

Question Number : 81 Question Id : 630680359497 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a hazardous solid waste?
Options :

1. ¥ Large auto parts

2. # Roofing and sheathing scraps

3. ¥ Pathological wastes
4

. ¥ Residue from fires used for heating building cinders.

Question Number : 82 Question Id : 630680359498 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I P 1 31 HRT & T 3 dR R GfHd T A9 11 a1 Hek & &9 H FEifepd fova Srar 82
Options :

1. 838

2. % T

3. & gpel

4. & WD

Question Number : 82 Question Id : 630680359498 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is the solid waste generally categorized as hardly degradable waste?
Options :

1. ¥ Rubber

2. ¥ Cardboard

3. ¥ Wood
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4. «7 Plastics

Question Number : 83 Question Id : 630680359499 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

A BBl o o el TR T R §1 g ™A AT E S R-R o 82
Options :

1. % ¥Ie e

2. o fdg

3. & FA-GIA PI TRIT HRAT

4. & SoRM B

Question Number : 83 Question Id : 630680359499 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

What are the openings constructed on the straight sewer lines between two man-holes which are far apart?
Options :

1. ¥ Street inlets

2. %/ Lamp holes

3. ¥ Flushing man-holes

4. ¥ Junction chambers

Question Number : 84 Question Id : 630680359500 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which sewerage system, the sewage is conveyed to waste water treatment plant and the storm is discharges into rivers without
treatment?

Options :

1. & Separate system

2. ¥ Partially separated system
3. ¥ Combined system
4

4

. & Flexible system

Question Number : 84 Question Id : 630680359500 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%m@ﬂaiﬁmvn?ﬂﬁ?ﬁéﬁﬁmﬁmmwﬂﬁaw@mw%ﬁw@éﬁﬁmw%ﬁﬁw%mw
0

Options :

1. &7 3 AdRIT

2. & iR U H gY YTt

3. & Tgad oIl

4. % Il SAGRT

Question Number : 85 Question Id : 630680359501 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

?W?ﬁw@mﬁ@ﬁmmﬁuﬁwﬁaaﬁﬁ?ﬁmm ST B! TS IR I Gdla! I Uh Jaa1 o 3HR
=M B2

Options :

1. & geit WTs yomelt

2. % fdiel qumTel!

3. ST yomeRt

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 36/45

Page- 36



9/20/23, 1:06 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action

4. & YTgE SN

Question Number : 85 Question Id : 630680359501 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which surface drainage system involve shaping the land into a series of parallel convex surfaces separated by well-defined plough
finishes?

Options :

1. ¥ Open ditches system
2. ¥ Levees system

3. ¢ Bedding system

4. ¥ Grassed waterways

Question Number : 86 Question Id : 630680359502 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I 3R TR & 3 TR a1 37T I §
Options :

2. UGB SO

3. & SHICIRI® UMY

4. % HHGRH Uy

Question Number : 86 Question Id : 630680359502 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Blood and other body fluids are an example of
Options :

1. ¥ Infectious waste

2. </ Pathological waste

3. ¥ Genotoxic waste

4. ¥ Pharmaceutical waste

Question Number : 87 Question Id : 630680359503 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS SHURTE & T Tad Ticial SUaR fdded & 91 g2
Options :

1. & TRIGS SR

7 YEHIeBRUT

EECIS

Question Number : 87 Question Id : 630680359503 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is the most preferred treatment option for hazardous waste?
Options :

1. ¥ Anaerobic digestion

2. ¥ Recycling

3. € Sanitary landfill

4. < Incineration
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Question Number : 88 Question Id : 630680359504 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Froffed 8 S o TS W Sufkiy &1 9k 82
Options :

1. & ORI & Y RIF T TR

2. 7 SO SR U & wld

4. % AR &1 f[dwy

b

Question Number : 88 Question Id : 630680359504 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following is a source of biodegradable food waste?
Options :

1. ¥ Fire places and kitchens of houses

2. </ Dairies and meat stalls

3. ¥ Thermal power plants

4. ¥ Demolitions of buildings

Question Number : 89 Question Id : 630680359505 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

TG I AR IR & YR R BEEIRSE H Qe UMY & J@ qoi o A B Thal gl
Options :

1. ¥ 13-22%

2. % 14.4-21.3%

3. ¥ 42.5-50 %

4, 7 55-78.2%

Question Number : 89 Question Id : 630680359505 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Depending on its source and origin, the carbohydrates can comprise of of the dry weight of food waste.
Options :

1. ¥ 13-22%

2. ¥ 14.4-21.3%

3. 8 .425-50%

4. 55-78.2%

Question Number : 90 Question Id : 630680359506 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
E.oRT Al o T URRIeT & ged 3 ugaH w2

Options :

1. &7 qed AT

Question Number : 90 Question Id : 630680359506 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Identify the constituent of E-wastes sources such as chip resistors?
Options :
1.+ Lead
2. ¥ Cadmium
3. ¥ Mercury
4. ¥ Hexavalent chromium

Structural Engineering Theory of structures

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 91 Question Id : 630680359507 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Wfdew U ¥ A WRemmel &1 ga § Wids w0 3 Fuiid WRemmsf & ary @ ugaH H
Options :

1. & 399 gam-faamur fafdy St faparsii o faaid o7 &1 9t emar it 1

2. & ZA WIS H Sifidad I a1d BIC 8d 8

3. % Y WREANE TaATHS U I 3O HoRal & g ST St 51

4, QYA & THIG T Pl AfaRad a-1d 781 il

Question Number : 91 Question Id : 630680359507 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the advantage of statically determinate structures over statically indeterminate structures?
Options :

1. ¥ They have great ability to distribute actions such as slope-deflection method.

2. ¥ Maximum normal stresses in these structures are smaller.

3. ¥ These structures are known for their rigidity comparatively.

4

. 7/ The effect of temperature does not cause any additional stress.

Question Number : 92 Question Id : 630680359508 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Base line

A

T77777777777777777777

W x x

The above given diagram belongs to
Options :
1. ¥ BMD for a simply supported beam with an eccentric point load
2. </ BMD for a cantilever with a point load at the free end
3. ¥ BMD for a cantilever with uniform distributed load
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4. ¥ BMD for a cantilever carrying a gradually varying load

Question Number : 92 Question Id : 630680359508 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Base line

A

T77777777777777777777

W x x

Options :

1. & TP Jabiad [6g YR & 1Y Wa T4 J waa §19 F fae drort
2. g RR R 1% fofg YR ard Hfeaiar & forg dume

3. & THgAM fJaRkd UR Ira Hfeehiar & fog diegs

4. # R} SCHT-AHT YR & S 9T hieeiiar & o diege

Question Number : 93 Question Id : 630680359509 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

FAHR & & fow STea@ sl &1 gar amd?

Options :
mr?

v 4

5 5 01174

4&?

Question Number : 93 Question Id : 630680359509 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Figure-out the moment of inertia for circular area?
Options :

rt

1L 4
2 & Ollr

mrt

3.8 8
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mrt

4.8 1

Question Number : 94 Question Id : 630680359510 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Base line

The above given diagram belongs to
Options :
1. # BMD for a simply supported beam with an eccentric point load
2. ¥ BMD for a cantilever with a point load at the free end
3. </ BMD for a cantilever with a uniformly distributed load
4. ¥ BMD for a cantilever carrying a gradually varying load

Question Number : 94 Question Id : 630680359510 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Base line

FuT fem s &= Srger 82

Options :

1. & o [qaeur fig YR & 919 IRa ©U 9 gafda iy & forg steast
2. & Tod RR R U foig YR ard SR & forg diums

3.« T ¥ J f3aid 4R arat side & forg diemst

4. % fR-¢R SET-3ET YR & SH aral hieehiar & forg Siuget

Question Number : 95 Question Id : 630680359511 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Examine the continuity of the function f{x)=2x? —1 atx = 3.
Options :
1. ¥ fis continuous at =0
2. ¥ fis continuous at =1
3. ¥ fis continuous at =2
4. <7 fis continuous at =3
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Question Number : 95 Question Id : 630680359511 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

W f(X)= 2x2 — 1 & x=3 9T aar #7 F= &1
Options :

. % fx=0 RIAd g

8 fx=l RYdd 8

L8 fx=2 R g

7 P x=3 R IAd §

AW o

Question Number : 96 Question Id : 630680359512 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

_T_C

wLlL

w.X
PN L BN EENNYLI]

//III/I//I//////I///<

Base line

‘What does the above S.F. diagram represent?
Options :
1. </ SFD for a cantilever with a uniformly distributed load.
2. ¥ SFD for a cantilever with a point load at the free end.
3. ¥ SFD for a simply supported beam with an eccentric point load.
4

. ¥ SFD for a cantilever carrying a gradually varying load

Question Number : 96 Question Id : 630680359512 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

W.X
//////////////////1/</

TRIFT THUF 3RW FAT ST £7?

Options :

1. ¢ GAF ©U Y f3aRa 4R aral Hfeeiar & forg vaum

2. % ad RR R U& g R arat Hfeeiar & forg wauw et

3. % U9 faaemn fig YR & 91y WRa U ¥ g9 §t| & o rouw et
4. % IR ST YR & O a1 bRk & fow Tqume!

VN NENEEENLL)

Base line

Question Number : 97 Question Id : 630680359513 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 42/45

Page- 42



9/20/23, 1:06 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action

Wxaxb

wraxd

A c B

The above given diagram belongs to
Options :
1. ¢ BMD for a simply supported beam with an eccentric point load
. ¥ BMD for a simply supported beam with a point load at the free end

Py

2
3. ¥ BMD for a simply supported beam carrying a uniformly distributed load
4, + BMD for a simply supported beam carrying a gradually varying load

Question Number : 97 Question Id : 630680359513 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Wxaxb
_:M%
A C B

W feam e By S 2
Options :

1. 7 U faateru fig YR & 91y WRa =0 J 9oiid &t & fore dieqs!
2. % o RR R U foig YR & 91 IRat =0 § waffa g & fow derst
3. & g w0 ¥ f9akd YR @ oF ard IRa gaidd 9 & forg steast
4. % SRR SIEAT-SIET YR & S aral TRa JHiid T & fore dumst

Question Number : 98 Question Id : 630680359514 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

4
nr N . . -
. is the moment of inertia for

Options :

1. ¥ Quarter circle
2. ¥ Ellipse

3. ¥ Circle

4. <7 Semicircle

Question Number : 98 Question Id : 630680359514 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%AW%UEBFITW&-'I‘UT%

Options :
1= ggdgd
“qd
. adgd

ES N
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Question Number : 99 Question Id : 630680359515 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T

w

A
7

A

f,

i
17
A

PP 7777777777 7777777877777 7777777777

m e W W O, Y . T

S.F. diagram

Base line

What does the above S.F. diagram represent?
Options :
1. ¥ SFD for a cantilever with a uniformly distributed load.
2. <7 SFD for a cantilever with a point load at the free end.
3. ¥ SFD for a simply supported beam with an eccentric point load.
4. ¥ SFD for a cantilever carrying a gradually varying load

Question Number : 99 Question Id : 630680359515 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T

W

P77 7 F 7 rrrrrr77 77777777l i 7777777777

+ W

m o T . W T W

7
iy
7
A
(
ly
i A (/fj/flI////!///I///////f/ LLLLLLLLS S

S.F. diagram

Base line

3UUFT THUG MG FOT ST 87

Options :

1. & AF ¥U Y f3aid YR aret Siechio & e vaumet|

2. ¢ gad RR R U fog YR a1d Hieciar & fow wuwal|

3. % U Iabiad [8g HR & 1Y Wa U ¥ gafid €9 & fo vauw
4. % PRI S-S YR & O arel Hieeliar & forg vaum e

Question Number : 100 Question Id : 630680359516 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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M

<

+ve —Vve

Cl2

The above given diagram belongs to
Options :
1. ¥ BMD for a simply supported beam with an eccentric point load
2. ¥ BMD for a cantilever beam subjected to a couple
3. < BMD for a simply supported beam subjected to a couple at its mid-span
4. ¥ BMD for a simply supported beam carrying a gradually varying load

Question Number : 100 Question Id : 630680359516 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Cr2

Mo

M

+ve —-ve

C/2

Options :

1. & TH Ihiad fig YR & T Wa w9 I gafdd §in & fau dteret

2. & U Hlechiar s & g Siuget te oie & e @

3. 7 TS YR U ofiH & e sunst s9% Ao § T sie & efiF gars
4. 8 fR-efR SIET-SEHT HR o O aTal IR wHRfd o H & forg Siume!
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